N = 0l & AFESE H Ml A
202395 =4 2 3| LS| sS4t
AN SSAD
M =E=ESXEE & ZFoE
oel. SRCIASEH Y MEHEXA CEEEED
SA - BB CRI(E]) - HRAIY - BIES Ofl ko = Hnz2
S=4H 46,701,300 45,470,913 1,230,387
= 2,469,353 2,296,389 172,964
J| 16,472, 161 14,550,805 1,921,356
S 60,000 0 60,000
= 4,134,370 3,730,732 403,638
BN 10,000 10,000 0
i 23,555,416 24,882,987 1,327,571
SESXNSE & ZAHHH 32,722,741 30,978,833 1,743,858
= 862,515 735,926 126,589
J| 15,684,999 13,763,671 1,921,328
== 2,540,188 2,474,630 65,558
BN 10,000 10,000 0
o 13,625,039 13,994,656 A369,617
SAUCIASSH L MEOHHX|IA 7,928,19% 7,805,588 122,608
= 118,899 118,899 0
J| 181,371 181,371 0
== 1,742,729 1,606,405 136,324
i 5,885,197 5,898,913 13,716
=0l Mot HZ X2 365,756 349,523 16,233
< 80,009 66,620 13,389
i 285,747 282,903 2,844
307 212t01™ 365,756 349,523 16,233
< 80,009 66,620 13,389
i 285,747 282,903 2,844
06 2832 365,756 349,523 16,233
OsZoMaitd s M= 365,756,000 365,756 349,523 16,233
== 80,009 66,620 13,389
o 285,747 282,903 2,844
SENEXNTAF & OFSoi&E0F LAY 2,400 4,800 A2,400
== 600 1,200 2600
i 1,800 3,600 21,800
307 212t01& 2,400 4,800 A2,400
< 600 1,200 2600
i 1,800 3,600 A1,800
12 QIZHIRIE W =H| 2,400 4,800 22,400
OsZMEXNTA & OrSoH&EIt LAY
1,500, 0002 *201%80% 2,400 4,800 A2,400
< 600 1,200 2600
i 1,800 3,600 21,800
sl XA 3,725,400 3,750,000 A24,600
== 1,490, 160 1,500,000 A9,840
o 2,235,240 2,250,000 14,760
301 EtEEZ 3,656,400 3,681,000 A24,600
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2A:
PSE
o /e

Saak

OH" O O
02 P

'
SXET o FYOH
QIASEH o MHOIZN

2A - EH - OR(3) - NIRAY - BAS O kol )| & o HIDE2
= 1,462,560 1,472,400 A9,840
o 2,193,840 2,208,600 14,760
14 JIEtE&E 3,656,400 3,681,000 24,600
Os0ges=g X=a
300,000 %12, 18891 3,656,400 3,681,000 24,600
== 1,462,560 1,472,400 A9,840
i 2,193,840 2,208,600 A14,760
SAE HI|R= &M XIJA 133,375 0 133,375
< 133,375 0 133,375
301 et Z 133,375 0 133,375
== 133,375 0 133,375
14 J|Et243 133,375 0 133,375
OSAHE A3 oAt XIZAIE (LX)
133,375,000 133,375 0 133,375
== 133,375 0 133,375
e EsHFLYSHUAEEHN 20,820,542 18,678,102 2,142,440
= 570,765 259,095 311,670
J| 14,511,300 12,922,300 1,589,000
== 630,507 530,262 100,245
i 5,107,970 4,966,445 141,525
SUXNSHIHEZ| 77,300 77,300 0
J| 77,300 77,300 0
201 et 3| 31,520 25,820 5,700
J| 31,520 25,820 5,700
01 At22teld| 19,920 14,820 5,100
OaMRIE2E & etz 3H|
19,920,0002 19,920 14,820 5,100
J| 19,920 14,820 5,100
02 Z523| 11,600 11,000 600
OXZN FA RERI 11,600,000 11,600 11,000 600
J| 11,600 11,000 600
202 44| 1,321 7,021 AB,700
J| 1,321 7,021 AB,700
01 2LHOABI 1,321 7,021 25,700
O3YUXEM HRFX 1,321,000 1,321 7,021 25,700
J| 1,321 7,021 AB,700
JI28 SUXZXI=SAY 14,434,000 12,845,000 1,589,000
J| 14,434,000 12,845,000 1,589,000
301 et Z 14,434,000 12,845,000 1,589,000
J| 14,434,000 12,845,000 1,589,000
14 J|Et243 14,434,000 12,845,000 1,589,000
OJl=g SAXNER=SAIS
14,434,000, 0002 14,434,000 12,845,000 1,589,000
J| 14,434,000 12,845,000 1,589,000
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2A: sS4
M =EEXNSE & ZFoHE
£Hel: ZEdssSdsHASEN CEEEN
SA - BB SR(E) - HRAY - BES Ofl kot J| & o GImE=ST;
CERL RS ESESPNE==PS | 3,150 18,600 15,450
= 2,520 10,380 AT7,860
i 630 8,220 A7,590
301 YPtENS 3,150 18,600 15,450
= 2,520 10,380 AT7,860
i 630 8,220 A7,590
14 JIEtE A3 3,150 18,600 15,450
@R S=FSESE | 3,150,000 3,150 18,600 15,450
= 2,520 10,380 AT7,860
i 630 8,220 A7,590
s MNsAAR 36,339 0 36,339
== 36,339 0 36,339
302 OIF=ZMHAH 2 A= 36,339 0 36,339
< 36,339 0 36,339
02 QRIS =R ES24Z 36,339 0 36,339
Ozg e mlai=s+ MHHXA2(HEA)
25,575,000 25,575 0 25,575
< 25,575 0 25,575
O=s&E doll Tl sIF 27 K2 (HEA)
10,764,0002 10,764 0 10,764
== 10,764 0 10,764
HIZ J1RHE X2 AH 532,551 0 532,551
= 319,530 0 319,530
< 63,906 0 63,906
i 149,115 0 149,115
402 2I2tRH201H 532,551 0 532,551
= 319,530 0 319,530
< 63,906 0 63,906
i 149,115 0 149,115
02 CIZFXHEAIH B (0| X THEA) 532,551 0 532,551
ORJ|1&8Hlg IIEEX Y 208 Al
532,551,000 532,551 0 532,551
= 319,530 0 319,530
< 63,906 0 63,906
i 149,115 0 149,115
M EsHISLLSHUASEEN 3,974,003 4,495,193 AB21,190
= 172,851 357,932 185,081
J| 992,328 660,000 332,328
== 166,952 337,963 A171,011
BN 10,000 10,000 0
i 2,631,872 3,129,298 N497,426
EEE(=0I2F)HEAY 0 400,000 400,000
J| 0 400,000 400,000
301 YPtENS 0 400,000 400,000
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2A: sS4
M =EEXNSE & ZFoHE
£Hel: ZEdssSdsHASEN CEEEN
SA - FHH . O(32) - HRAY - BES Ofl Aot )3 o iImE=ST
J| 0 400,000 400,000
14 J|Et243 0 400,000 400,000
O=E8Z&(=0|12&) 2T XSAIY
o 0 400,000 400,000
J| 0 400,000 400,000
HEANSAES KA 732,328 0 732,328
J| 732,328 0 732,328
301 EtEEZ 732,328 0 732,328
J| 732,328 0 732,328
14 J|Et243 732,328 0 732,328
OHsANEZANES NFAY
732,328,000 732,328 0 732,328
J| 732,328 0 732,328
I =sS MR ALS 129,993 171,282 N41,289
= 51,997 68,500 /16,503
== 23,399 30,825 AT ,426
i 54,597 71,957 A17,360
402 DIZHXHE01H 129,993 171,282 A41,289
= 51,997 68,500 /16,508
== 23,399 30,825 AT,426
i 54,597 71,957 17,360
02 CIZEXI= AL B (0| M THS) 129,993 171,282 A41,289
ORI=S XIS AL 129,993,000 129,993 171,282 A41,289
= 51,997 68,500 /16,503
== 23,399 30,825 AT,426
i 54,597 71,957 17,360
ME=sH SR XIJA 62,500 272,500 /210,000
== 50,000 92,000 42,000
i 12,500 180,500 168,000
201 LE23H| 42,500 62,500 A20,000
< 34,000 50,000 /16,000
i 8,500 12,500 24,000
01 AtR2elt] 42,500 62,500 220,000
Orstd=sy 2294 M & 25712
42,500,000 42,500 62,500 A20,000
== 34,000 50,000 A16,000
i 8,500 12,500 24,000
401 Al EHIZL LY 20,000 0 20,000
== 16,000 0 16,000
i 4,000 0 4,000
01 Al&H| 20,000 0 20,000
Ozlstd = 2HIHIZAIS (RHEHH)
20,000,000&! 20,000 0 20,000
< 16,000 0 16,000
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FA: =M
I SESNSA & FHery
Pl e dsUSEgASHUASEN (CHo|: M)
BA - 3 - HRA(3A) - M2AIY - BES Ofl &k oK I &8N Hlwsz
= 4,000 0 4,000
402 2I2tAE201H 0 210,000 A210,000
LS 0 42,000 242,000
i 0 168,000 168,000
02 QI AHEAIE E A (01 H THEA 0 210,000 A210,000
OUE=sHEHA XA o= 0 210,000 A210,000
[ 0 42,000 242,000
i 0 168,000 A168,000
FsY dE=It IIBRESXA 0 247,681 N2AT 681
LS 0 49,536 A\49,536
o 0 198,145 A198,145
402 212tA201H 0 247,681 A2A47 ,681
LS 0 49,536 A\49,536
o 0 198,145 A198,145
02 QIZHKHE AR EZE (ORI THE) 0 247,681 247,681
ORJI=sg d=sIt I3RS A
03 0 247,681 A2A47 ,681
[ 0 49,536 A49,536
i 0 198,145 A198, 145
Y sY SEALEH 29 0 2,940 12,940
[ 0 588 588
o 0 2,352 N2,352
307 2Izto| A 0 2,940 12,940
LS 0 588 /588
o 0 2,352 2,352
02 QIZHHAAIEE X 0 2,940 A2,940
OzEZdti=se dieged
o= 0 2,940 A2,940
[ 0 588 588
i 0 2,352 N2,352
e S9E A= At 0 127,000 A127,000
[ 0 38,100 38,100
i 0 88,900 88,900
301 LEENS 0 127,000 A127,000
LS 0 38,100 38,100
i 0 88,900 88,900
14 J0IEt2d= 0 127,000 A127,000
OZd s9¢ A=A 02l 0 127,000 A127,000
LS 0 38,100 /38,100
i 0 88,900 88,900
e st M558 SEAE 26,730 0 26,730
[ 8,019 0 8,019
[ 18,711 0 18,711
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2A: sS4

M =EEXNSE & ZFoHE

£Hel: ZEdssSdsHASEN CEEEN
SA - BB SR(E) - HRAY - BES Ofl kot J| & o GImE=ST;
301 EtEEZ 26,730 0 26,730
== 8,019 0 8,019
i 18,711 0 18,711
14 JIEtE&Z 26,730 0 26,730
OFetd sis MeES SHIAAMS
26,730,000 26,730 0 26,730
< 8,019 0 8,019
i 18,711 0 18,711
E2MEM XA 187,902 439,240 A251,338
= 120,854 289,432 A168,578
< 33,524 74,904 241,380
i 33,524 74,904 A41,380
402 QIZERHE0| A 187,902 439,240 A251,338
= 120,854 289,432 A168,578
== 33,524 74,904 A41,380
i 33,524 74,904 A41,380
02 QIZFXIEAILE X (01X THE) 187,902 439,240 A251,338
OELINSM XA (1,300€)

187,902,000 187,902 439,240 A251,338
= 120,854 289,432 A168,578
== 33,524 74,904 A41,380
i 33,524 74,904 241,380

et HESLES MAD|BEY 10,315,079 9,972,913 342,166

= 1,127,900 1,081,525 46,375

J| 787,162 787,134 28

S 60,000 0 60,000

< 1,229,578 957,063 272,515

i 7,110,439 7,147,191 A3B,752

SN2 Y L3t 2,578,883 2,465,103 113,780

J| 43,312 44,320 A1,008

< 95,265 65,367 29,898

i 2,440,306 2,355,416 84,890

AANMTFY 33,000 32,500 500

< 6,600 6,500 100

i 26,400 26,000 400

307 212t01™ 33,000 32,500 500

== 6,600 6,500 100

i 26,400 26,000 400

02 QIRHBAIAHE R 33,000 32,500 500
O4Y=sE<0| XA

110, 0002 *221x300L *50% 33,000 32,500 500

== 6,600 6,500 100

i 26,400 26,000 400

sSneraa XS 60,480 55,200 5,280
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2A:
X{XH -
o /e

cH):

o
o gy
o oY =

SA - FHH . O(32) - HRAY - BES Ofl Aot )3 o GImE=ST;
J| 32,112 33,120 A1,008
< 6,422 6,624 A202
i 21,946 15,456 6,490
307 212t01™ 60,480 55,200 5,280
J| 32,112 33,120 21,008
== 6,422 6,624 A202
i 21,946 15,456 6,490
02 QIRHBAIAMHE R 60,480 55,200 5,280
OgtuSF=a XA
480 %50401%2502 60,480 55,200 5,280
J| 32,112 33,120 21,008
== 6,422 6,624 A202
i 21,946 15,456 6,490
SLHAMARE (EA) 2,074,415 2,074,415 0
307 212t01™ 942,400 952,400 210,000
02 CIZHEAAIRIE X 942,400 952,400 210,000
OdtAl Alz2ZE MHHEX =8 ZUE XA
80,000, 0002 *50% 40,000 50,000 210,000
402 RIZHXHE01H 1,132,015 1,122,015 10,000
01 CIZEXH=2 A B2 (XERITHE) 1,132,015 1,122,015 10,000
Ot IEME KIRA
288,000,000 283,000 248,000 40,000
Ogte=It AIZEE IHE SEE7YH| X2
A o 0 30,000 /30,000
SOXsIt SEA 27,400 11,400 16,000
== 4,680 2,280 2,400
o 22,720 9,120 13,600
402 IZHXHE01H 27,400 11,400 16,000
== 4,680 2,280 2,400
o 22,720 9,120 13,600
02 CIZEXI= AL B (0| M THS) 27,400 11,400 16,000
OEHXIsIH SHAI 27.,400,0002 27,400 11,400 16,000
== 4,680 2,280 2,400
i 22,720 9,120 13,600
Asg 24 TEEd=s KA 92,000 0 92,000
< 27,600 0 27,600
i 64,400 0 64,400
307 212to1™ 92,000 0 92,000
== 27,600 0 27,600
o 64,400 0 64,400
02 QIRHBAIAHE R 92,000 0 92,000
OXss i TEIEAZ XA
400,0002%230% 92,000 0 92,000
== 27,600 0 27,600
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AN St
M ZEE FEFLES MAD|BEE
£Hel: SME WS 25 (Crol: X 21)
2A - B C9(3) - MPAY - BES Ofl o I3 o iImE=ST
| | i 64,400 0 64,400
TISF=4E DBt A 2,610,367 2,304,405 305,962
= 0 540 2540
| 421,916 400,080 21,836
= 523,988 276,895 247,093
i 1,664,463 1,626,830 37,573
CHMINZE S4AE Mat 37,810 34,310 3,500
201 LBt AY| 13,410 9,910 3,500
01 At22teld| 13,410 9,910 3,500
Ogetz3| 7,250 3,750 3,500
04tz 22d4 A 2 22|
3,500,000& 3,500 0 3,500
IAZ e X~ 1,024,837 960,950 63,887
I 332,296 311,000 21,296
= 132,118 123,600 8,518
i 560,423 526,350 34,073
307 212t01™ 1,008,837 944,950 63,887
I 324,296 303,000 21,296
= 129,718 121,200 8,518
i 554,823 520,750 34,073
02 QIRHBAIAHE R 1,008,837 944,950 63,887
O=AtZMALE AtZelXl ’MZHI X
828,887,000 828,887 765,000 63,887
I 276,296 255,000 21,296
= 110,518 102,000 8,518
i 442,073 408,000 34,073
UHEIXIEH XIRALS 1,080 1,080 0
= 0 540 2540
| 540 0 540
= 162 162 0
i 378 378
307 212t01™ 1,080 1,080
= 0 540 AB40
I 540 0 540
= 162 162
i 378 378
02 QIRHBAIAHE R 1,080 1,080
OZHEIXI | XA
100,000 * 18CH*60% 1,080 1,080 0
= 0 540 2540
| 540 0 540
= 162 162 0
i 378 378 0
Y A8 HE XA 238,575 0 238,575
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AN St
M ZEH FEFLE MDY
el EEFSL IRy (Crol: X 21)
SA - BB SR(E) - HRAY - BES Ofl kot J| & o GImE=ST;
= 238,575 0 238,575
307 212t01™ 238,575 0 238,575
< 238,575 0 238,575
02 QIRHBAIAHE R 238,575 0 238,575
O1E AMRI|EF N XIAAIS (HEH)
250,000 6,362+ 15% 238,575 0 238,575
< 238,575 0 238,575
L= =0T D8 2 2| 240,979 200,697 40,282
= 33,409 0 33,409
< 92,913 90,000 2,913
i 114,657 110,697 3,960
LH-HESYEHHIES 54,657 50,697 3,90
401 AEHIZL O] 3,960 0 3,90
01 Al&H| 3,960 0 3,960
O0E EFHZ MAHAMZ 660,000 x62 3,960 0 3,960
TS 4tE MAXIR HER ALY 33,409 0 33,409
= 33,409 0 33,409
201 et 3| 559 0 559
= 559 0 559
01 At22teld| 559 0 559
Ozletd =42 215 AEH #HEH|
559,000 559 0 559
= 559 0 559
301 et Z 32,850 0 32,850
= 32,850 0 32,850
14 JIEtE&Z 32,850 0 32,850
OFEd =42 015 AEM KA
32,850,000 32,850 0 32,850
= 32,850 0 32,850
MO0 SAKE HIIR3 At T|IALE 2,913 0 2,913
== 2,913 0 2,913
301 LEt2d= 2,913 0 2,913
< 2,913 0 2,913
14 JIEIE A2 2,913 0 2,913
OFAH20F sAIE &)I23 A XJ(H
gd) 2,913,000& 2,913 0 2,913
< 2,913 0 2,913
Nozst=HE st 1,277,188 1,447,188 170,000
J| 60,000 80,000 A20,000
== 92,500 98,500 6,000
i 1,124,688 1,268,683 144,000
II=EER El9HIg X~ 0 40,000 40,000
J| 0 20,000 20,000
== 0 6,000 26,000
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2A:
X{XH -
o /e

cH):

SA - FHH . O(32) - HRAY - BES Ofl Aot )3 o GImE=ST;
i 0 14,000 A14,000
402 QIZERHE0| A 0 40,000 240,000
J| 0 20,000 220,000
== 0 6,000 26,000
i 0 14,000 214,000
02 CIZEXI= AL B (0| M THS) 0 40,000 A40,000
OJ=EEs EddIs K& o 0 40,000 240,000
J| 0 20,000 /20,000
== 0 6,000 26,000
i 0 14,000 214,000
FhsI 22XET KSAS 594,600 724,600 130,000
< 28,500 28,500 0
i 566, 100 696,100 130,000
307 212t01™ 594,600 724,600 130,000
< 28,500 28,500 0
i 566, 100 696,100 130,000
02 CIZHEAAIRIE X 594,600 724,600 130,000
OFLsI =2 FT XIJAASE(6,500E)
531,500,000 531,500 661,500 130,000
== 28,500 28,500 0
i 503,000 633,000 130,000
JIEEY & SS9 913,815 912,215 1,600
= 12,650 11,150 1,500
J| 24,000 24,800 AB800
< 50,920 50,650 270
i 826,245 825,615 630
SAISHACCPZIEE 4,200 5,600 21,400
J| 2,400 3,200 2800
== 540 720 A180
i 1,260 1,680 2420
307 212t01& 4,200 5,600 A1,400
J| 2,400 3,200 2800
== 540 720 A180
i 1,260 1,680 2420
02 QIRHBAIAHE R 4,200 5,600 A1,400
OS2 HACCP(=IH) KIRALY
6,000,000 *70% 4,200 5,600 A1,400
J| 2,400 3,200 2800
== 540 720 A180
i 1,260 1,680 2420
2| - RASS 2el=FME NJA(L ) 3,000 0 3,000
= 1,500 0 1,500
== 450 0 450
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A sS40
MM FEY FFHIMS MAD|BEES
ol JIREE 2 SMSY (CHR: X 2)
2A - HH . H(SH) - MRAIY - BES Ol AtK ol Al Hns2t
= 1,050 0 1,050
301 YEHEAS 3,000 0 3,000
= 1,500 0 1,500
[ 450 0 450
= 1,050 0 1,050
14 J|EI2 A3 3,000 0 3,000
K| - RASS AAH| X
250,00024+200}+2|*60% 3,000 0 3,000
= 1,500 0 1,500
[ 450 0 450
= 1,050 0 1,050
NEJ=-T-1 458,150 450,070 8,080
= 14,040 0 14,040
[ 91,292 91,080 212
= 352,818 358,990 B, 172
grodz|ot=)) 213 SOHTEHHIE X 1,000 21,000 20,000
[ 200 4,200 24,000
= 800 16,800 16,000
301 YB3 1,000 21,000 220,000
< 200 4,200 A4,000
= 800 16,800 16,000
14 JEH2 42 1,000 21,000 A20,000
O zotsIt 213 HTEHIZ X 1,000 21,000 A20,000
0SHX 0 0 20,000 A20,000
[ 0 4,000 24,000
= 0 16,000 A16,000
013 20,0002 %50 1,000 1,000 0
[ 200 200 0
= 800 800 0
B Y NI E=TESIED) 15,840 0 15,840
= 7,920 0 7.920
[ 2,376 0 2,376
= 5,544 0 5,544
402 QI2EXHE0| & 15,840 0 15,840
= 7,920 0 7.920
[ 2,376 0 2,376
= 5,544 0 5,544
02 QIZFRF2 A E AR (0| M THS) 15,840 0 15,840
OAX IS ALEHI(HAK $HE)
X& 800, 00021 +337H*60% 15,840 0 15,840
= 7,920 0 7.920
[ 2,376 0 2,376
= 5,544 0 5,544




2A:

.

!

=

FRNE ARy

= [0

H rioe g

Sy
0z

ol =2 (Crol:®M2l)
2A - HH . H(SH) - MRAIY - BES Ol ArH J &3 o Hws2

IS ARIK 2l KA (=4 X 218]) 12,240 0 12,240

= 6,120 0 6,120

& 1,836 0 1,836

o 4,284 0 4,284

307 SI2t01 & 12,240 0 12,240

= 6,120 0 6,120

& 1,836 0 1,836

o 4,284 0 4,284

02 CIZHEAAIRIE X 12,240 0 12,240

O&HMENEME] AEEHI(HA =1

gl) X 3,000 %6, 800 S *60% 12,240 0 12,240

= 6,120 0 6,120

& 1,836 0 1,836

o 4,284 0 4,284

SIS 2,235,697 2,193,235 42,462

= 1,067,801 1,069,835 A2,034

| 237,934 237,934 0

=S 60,000 0 60,000

& 282,700 284,571 A1,871

o 587,262 600,895 13,633

NSHIUE 712 393,906 398,204 A4,298

= 230,261 226,675 3,586

& 48,406 47,991 415

o 115,239 123,538 28,299

206 =4I 237,906 242,204 A4,298

= 152,261 148,675 3,586

= 25,006 24,591 415

o 60,639 68,938 28,299

01 =8l 237,906 242,204 24,298

ONsgdauE 22 237,906,000 237,906 242,204 N4,298

= 152,261 148,675 3,586

= 25,006 24,591 415

o 60,639 68,938 28,299

A EFHetd sy e 23| 90,000 104,000 214,000

= 18,000 24,000 26,000

== 21,600 24,000 A2,400

o 50,400 56,000 5,600

301 LBEAEZ 90,000 104,000 214,000

= 18,000 24,000 6,000

& 21,600 24,000 A2,400

o 50,400 56,000 5,600

14 J|Et243 90,000 104,000 214,000
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2A:

=
M gk
=

A
A

d FERNE dab|gtxy
g

fe=)

o2l JIE2AAY (Crol:®M2l)
SA - FHH . O(32) - HRAY - BES Ofl o )3 o iImE=ST
Ox B=x4dietd 2 MWEEFEH| X
15,0002 %6, 0005 90,000 104,000 214,000
= 18,000 24,000 26,000
= 21,600 24,000 A2,400
i 50,400 56,000 25,600
X A24 Z2& NEXA 30,000 15,000 15,000
= 15,000 7,500 7,500
= 4,500 2,250 2,250
o 10,500 5,250 5,250
307 212t01™ 30,000 15,000 15,000
= 15,000 7,500 7,500
= 4,500 2,250 2,250
i 10,500 5,250 5,250
02 CIZHEAAIRIE X 30,000 15,000 15,000
O"HXAZ2HES X=X
10,000, 0002 *5IH A *60% 30,000 15,000 15,000
= 15,000 7,500 7,500
= 4,500 2,250 2,250
i 10,500 5,250 5,250
g Ji=dg X2 60,000 0 60,000
S 60,000 0 60,000
206 TH=ZH| 60,000 0 60,000
= 60,000 0 60,000
01 M=l 60,000 0 60,000
OLSsAE 7 30,00024*2,000E 60,000 0 60,000
S 60,000 0 60,000
SEED| SsEH KA 1,760 16,000 14,240
= 880 8,000 AT7,120
< 264 2,400 A2,136
i 616 5,600 24,984
307 212t01™ 1,760 16,000 14,240
= 880 8,000 27,120
< 264 2,400 A2,136
i 616 5,600 24,984
02 QIZHEAAIRIE X 1,760 16,000 14,240
O &ED| SSEH XI&
2,200,000 * 15 *80% 1,760 16,000 A14,240
= 880 8,000 27,120
< 264 2,400 A2,136
i 616 5,600 24,934
H=sE 83 FH 2,477,816 3,841,071 A1,363,255
= 478,938 478,938 0
= 364,604 299,039 65,565
i 1,634,274 3,063,094 A1,428,820
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2A: sS4
M M_A=SE 435 FA
gel: dEsE 2 ASFHE 285 (Crol: X 21)
SA - FHH . O(32) - HRAY - BES Ofl Aot )3 o iImE=ST
HASE & AsHE &858t 2,477,816 3,841,071 A1,363,255
= 478,938 478,938 0
< 364,604 299,039 65,565
i 1,634,274 3,063,094 1,428,820
HASELEFE 20,720 20,520 200
201 et 3| 8,120 7,920 200
01 AtR2elt] 8,120 7,920 200
OLI=HEZZ A &FAl AL X
500,000 %43 2,000 3,000 A1,000
O2=2HEZEN 1T K& & DLIHE
300,000 *103] 3,000 1,800 1,200
sZ Msls g3 XA 0 10,000 210,000
< 0 3,000 A3,000
i 0 7,000 A7,000
307 212t01™ 0 10,000 10,000
== 0 3,000 A3,000
i 0 7,000 A7,000
02 QIRHBAAMHE R 0 10,000 A10,000
Os& NMsus s N o 0 10,000 A10,000
== 0 3,000 A3,000
i 0 7,000 A7,000
FD=sHBANME s X 7,365 14,260 6,895
< 3,155 7,130 A3,975
i 4,210 7,130 A2,920
307 212t01™ 7,365 14,260 6,895
< 3,155 7,130 A3,975
i 4,210 7,130 A2,920
02 SIHBAANHEE 7,365 14,260 6,895
Oz 1=sZZINNE W= X
7,365,000& 7,365 14,260 6,895
== 3,155 7,130 A3,975
i 4,210 7,130 A2,920
M=l X XIRA 433,440 300,000 133,440
< 162,540 90,000 72,540
i 270,900 210,000 60,900
301 Let2d= 433,440 300,000 133,440
< 162,540 90,000 72,540
i 270,900 210,000 60,900
14 JIEtE A3 433,440 300,000 133,440
OWA&=2l BIRH K&
200,000% *2,7092!%80% 433,440 300,000 133,440
== 162,540 90,000 72,540
o 270,900 210,000 60,900
Q=22 N 22H XA 48,000 48,000 0
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2AM:
X{XH -
o /e

cH):

Nl

jo
Je
ol

24 2 ol
o rio
No

+

o

= 4y

O O =
e Iy 0

i

fol

=

2A - EH - OR(3) - NIRAY - BAS O kol )| & o HIDE2
= 14,400 14,400 0
o 33,600 33,600 0
201 LE23H| 16,889 8,833 8,056
= 5,067 2,650 2,417
o 11,822 6,183 5,639
01 At22teld| 16,889 8,833 8,056
OA=CIHE 22X OlswW S|
16,889,0002 16,889 8,833 8,056
= 5,067 2,650 2,417
i 11,822 6,183 5,639
301 LEt2d= 31,111 39,167 28,056
= 9,333 11,750 A2, 417
i 21,778 27,417 25,639
14 JIEtE&Z 31,111 39,167 A8,056
2=2SE HlE XN
30,0002%2000! 6,000 4,500 1,500
= 1,800 1,350 450
i 4,200 3,150 1,050
OdT2e =z XI& 21,111,000 21,111 31,667 210,556
< 6,333 9,500 A3, 167
i 14,778 22,167 A7,389
OO AL HIE I~ 20,0002 %2000! 4,000 3,000 1,000
= 1,200 900 300
o 2,800 2,100 700
2A=0l HEZZXF JIsAF HEY 600,000 2,060,000 21,460,000
401 AlEHIZL 08I 600,000 2,015,000 21,415,000
01 Al&H| 600,000 2,015,000 21,415,000
Q=0 HEZZXF JIsAF HEY
600,000,000 600,000 2,015,000 A1,415,000
405 KHAHE S| 0 45,000 45,000
01 AL =SS FHSHI 0 45,000 245,000
=0l HEZ2ZA JISAF ARE 2 2 F
=l o 0 45,000 A45,000
=0l HEZ=ZX 288 XNE 30,000 50,000 A20,000
301 et Z 30,000 50,000 A20,000
14 JIEtE&Z 30,000 50,000 A20,000
=0l HEZ=ZX 838 XN
300,000 *1009! 30,000 50,000 A20,000
HRES(s54H) 981,916 474,298 507,618
I=FSPNES 981,916 474,298 507,618
22Xz BE=g 981,916 474,298 507,618
802 Btat=DIEt 981,916 474,298 507,618
01 2 NEX3LHEZ 666,326 285,465 380,861
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2A:
X ZH
S

2A - ZH () - MRAY - HAS Of] &K J &3 o Hws2
02022 AL MAD[BHEFS ALY & S &K
OIXFLE) 1,080,230 1,081 157 924
020223 HsHE SAKAAIG ESEH(Q
Xt ) 18,639,6502! 18,640 0 18,640
02021 E=LH20E ICTESE SHAAY BA
OH(O|RFEEY) 50,6102 51 0 51
020223 =4H20F ICTESE EHAAY S
OH(OIXIELEL) 1,940,770& 1,941 0 1,941
020223 42X a3t A HEH &
H(O|XtZE) 75,365,640 75,366 0 75,366
020224 L&A =0l XJAY
ZhOH (0| KH L B¢ 1,569,970%! 1,570 0 1,570
O2022d A=l A=sHEXAAL (X,
Sed]) DEHAH(O| KHEE)
14,119,910 14,120 0 14,120
020223 M3EIE =2 2835t XA S
% 4,518,320 4,519 0 4.519
02022 sZZAFMSH Al HHTH(0|
=1 12,179,810& 12,180 0 12,180
O20218 2SO KI& AFR! O KHehayoH
1,140& 2 0 2
O2022 RSHZUUX SBS2ArE EZH (0]
Xt 3t 72,535,270 72,536 0 72,536
02022 LAY SHAIY BT (OIXIEE)
38,420 39 0 39
020224 Xz 243 N2 S &rH
48,8002 49 0 49
02022 XIS BHAL KIRAALY EIEH AN
1,914,870 91,915 0 91,915
02022 IIELAUHSKIZAAI &S EH
51,358,980 51,359 0 51,359
020224 CCTV & goolmet AX XIZAAMY &
SHEMOH(O|RHEEY) 32,437,250 32,438 0 32,438
020224 HACCPAAE! (=D1) XIALY Z S RHoH(
O KtXL &) 3,211,730 3,212 0 3,212
02 Al - EHIEZZEteS 315,590 188,833 126,757
02022 ESsAZ ASEA XN T
H(O|XtZE) 356,090& 357 355 2
020225 ZAISMAD|BHEIE ALY & SHRHOH(
OIXFLE) 354,250 355 78 277
020224 CCTV & goolmet AX XIZAAMY &
SHEIOH(O|RIELE) 9,708,000 9,709 0 9,709
02022 JtE THHE2E KA EHEH(0|
=1 834,010 835 0 835
020224 =4ts0F ALZE IR KIJ3AY &
ZHH(O|RHIEE) 3,860 4 0 4
Q2022 R4S QISXIA T EHRHOH(
Ol RH2H24) 574,180% 575 0 575
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2A:
X ZH
S

=Ny
40

sSEL)

= Mz
4] 0H1 =

SA - HB . C9(B) - HRAY - BE=R Ofl by Il H o HRz2
O2022F QA20IHEIZL 22HAX AL
a@&wmmré) 17,779, 7602 17,780 17,780
020224 2 D=AAST DA O KHeHA4oH
1,7402 2 2
02022 012101 HISH KIRAIY ESX
H(OIRtZZEL) 3,349,450 3,350 3,350
02022 S0t R0] XISAFS Of KpetA4oH
7,190 8 8
02022 =01 A HO|RH| XA &
SHALH(O|RIELE) 342,320 343 343
O2022i SRS 29 XIAY O|RH
o 4,920¢ 5 5
020221 =01 OFF HEX| AL &IBHRHOH(
OIXFLE) 908,430 909 909
02022 =8| OIS 2SZ24A! KAl A3
&OH (0| L) 39,2102 140 140
02022 == MHslis S XA 01X
Al oH 9,8002 10 10
02022 AsHE STIXRAA SR (0]
X&) 5,591,010 5,592 5,592
02022 JI=HAE 2| EXIKLAY &
SHXFOH (O KHZ &) 12,0302 13 13
O2022d RAA SFEH0|A XIRAY ZE
ZHH(O|RFEES) 1,569,970& 1,570 1,570
O2022d A6t ZEEUHCSH A T3
&M (0| Ktz st 1,156,080 1,157 1,157
02022 2T 20| KA RSHEFH(O| X}
frg=T) 1,094,4802 1,095 1,095
O2022 DEZ 3R A ALY EISHZH
(OIRFES) 1,890¢ 2 2
0202244 ZSO0LX| AARS BFAF AP ZIBHTIOH(
OIXFEE) 33,2102 34 34
02022 LA MAD|BE D= ALY FBHEA
oH (0| K&t 520! 1 ‘
02022 AREM HB2AM ALY EISHEIH(Q]
=1 470 1 1
O2022d =AABAC REHSX| 2SAY &
Skl (0| XE &) 75,1502 76 76
020221 HUE=0l AT AT A (X
Mgty]) ZIBRHH (0| Xt E)
1,815,4102 1,816 1,816
O20228 ALB|1E =9 2435 XIKAY B
oK 580,930 581 581
O2022d SZEDR=HSA AL ZBHEH(O
K &) 2,775,650 2,776 2,776
O20018 SEHSKITAF LA A 0| KFera
oK 2,070 3 3
020214 2= M=)t IIRREXRA
o HHTHU(OINEE) 6,191,450% 6,192 6,192
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SN SEMD
Hu: HRES(SS6T)
cre: 1= (CHl: X2
2A - ZH () - MRAY - HAS Ol &F2H JE A HwE2Z
020228 AZASZ0HHoHS) oI NAAFY
Ol Xy At 136, 54021 187 187
02021 MERSEIR] EAAR O] KFerasol
27,280%! 28 28
O222E FEASAS RESHE XA
T (OIRHELE) 125,310 126 126
02022 Zet ZAHTZH BRI (0IXHE
&) 207,710 208 208
02022 ZISAE SR &z
3,610,940 3,611 3,611
020224 ZAHsIh HIALED| SXIXIRAHY
O Kt Ao 25,4302 2% 2
02022 ZIEAUUX BBA TSR (0]
TEE) 7,253,520 7,254 7,24
0202244 LAY S EISH RO (0| XFE )
11,520 12 12
02002 JSMAS B U AIRIEHKI ALY
Ol KFeay ol 4208 1 1
02022 JFE2 LRI XIR (SAAE B2
S)ARY B BRIOH(OIRHEZE)
252,360 253 253
020022 A Ak BHaF XIZIARY O RHEHAY
o 3102 1 1
020214 S22 LM N (EXH) AR O Xt
A0l 61,2702 62 62
020224 IIE2LHEI N (EXH) A Z3
ZHOH (0| RHELEL) 4,778,750 4,779 4,779
020228 HASHS preiSe T2H| XA
& EISHEAOH(O| KFEEEY) 2,364,500 2,365 2,365
O222E AHE BAZ XNBAY Zeztol
6,100 7 7
02002 THS BHAl XIRIANS Reiatol
12,452, 15024 12,453 12,453
02022 IIEYANSKIBAIY & oA
18,795,330 18,796 18,796
020224 JIESAUSKIZ AR (OIEYS &
BIEZAIY) ZEHAH 14,063,770 14,064 14,064
02022 ZAIE HACCPHEE! (501 XIZAY &
BEA(0INEE) 722,640 723 723
02022 SHQTHHAHBHIE KIRAI &
SHZFOH (0| XHE ) 2,201,2002 2,202 2,202
OSOIEQISAISE S{IHEAl KIRIAIS &3
R (pNE=2-1) 4,790,500 4,791 4,791
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